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bk 7 26 1431812.6 55069.7 — —
St 29 | 13458586.7 — — —

(2) ZIRMERIATTFEN:
y =7589.1025 —117.8861x, +80.6107 X, + 0.5012X, .

A

. = —117.8861 F % (4R NSOV 5 3 TR B TS, 50 K g

AR, G5ERETE R 117.8861 AN ihr; S, =80.6107 #m: TERSEITIE A 4% 2
FIRAS (00 R, 4 NIGUONEIG I — AN B, 45 65 BP9 80.6107 AN #fir

Iy

Ly =0.5012 LR : TEFFHEM AN ZIEI T, | G —A~ A,
B BTN 0.5012 AN AT,
(3)HF Significance F=8.88341E-13<« = 0.05 , W [0 A 5 FE Lkt R % .

R 12026774.1 . .
o SR 1020771 _ oo 360, sempcsti insaiesh, befsit
SST  13458586.7

2 JCRNE R VA 5 RE AR RE IR LU A8y 89.36%, 15 B[R J7 R R4 -& R FE =

(4> R

SSE
n-k-1

PN 2 R TR B B B, PR TR 2 )y 234.67 .

(5) s, = = JMSE =/55069.7 = 234.67 . FWIHAEMI. FA

3. M= sralicooft A B,CIER TAE NS A B,C, HOEMAIERE
P(A)=0.87 B=) 0P C(
RGN, % TIEASEN, . A P =P(N,) = P(ABC);
i F#E A, B,C ML, LA
P, =P(A)P(B)P(C)=0.8x0.9x0.9=0.648
LRGN, E# TENEEN, , W4
P,=P(N,)=P(Al (BUC)):

i1 A, B,CHEMAL, WA
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